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  INDIAN SCHOOL SOHAR 

      TERM –I EXAM (2017 – 18) 

SUBJECT: - MATHEMATICS 

           CLASS- III 

      SET –A 

Date of Exam: 19-09-2017 

Time Allotted:  2 hours                           Max. Marks: 40 
(Note: This question paper consists of 5 printed pages. Please check that you have all the pages.) 
--------------------------------------------------------------------------------------------------------------- 
 
Name:_________________      Roll No.: _________  

Section: ________                GR No: ________  

--------------------------------------------------------------------------------------------------------------- 

 

 

Subject Teacher’s Sign with date    Invigilator’s Sign with date 

---------------------------------------------------------------------------------------------------------------- 

I     Choose the correct answer from the bracket.                                        (1 × 5 =5) 

a )   In 5432 , place value of 4 is _____________. 

      ( 40  ,   400  , 4   , 4000 ). 

b)    The largest 3 digit odd number is ________. 

      (  99  ,  999  , 9   , 100 ) 

c)    2000 + _________  =  2001. 

      (  0  ,  1  ,    2  ,  10  ). 

d)   What will come next ? 

      1  , 2  , 4  , 8 ,________ 

    ( 10   ,  16  ,   12   , 32  ). 

e)  33       _______  =  0 

     ( 33  ,  0   ,  1 ,  10  ).  
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II  Fill in the blanks .                                                                                            (1 ×5=5) 

a)   10 × ______  =  0. 

b) The largest 4 digit number is ______________. 

c) _________  × 100  =  300. 

d) 80        30  =________. 

e) 1 less than 5678 is _________. 

III   Do as directed.                                                                                                                                          (2 ×7 = 14) 

a) Arrange the following numbers in ascending order. 

4567   ,   6792    ,   4523   , 5000. 

Ans : _______________________________________________. 

 b) Extend the following pattern. 

 ABC  ,  BCD   ,  CDE ,   DEF , _________, __________, _________, ________.  

c) Write in columns and add 

    4673   +   3401  +   1000. 

 

 

 

 

 

 

d) Find the product  

        44 × 2 
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e) Write the predecessor and successor for 2999. 

     Predecessor: ____________  ,    Successor  : ______________ 

 f)  Split the numbers and subtract. 

    8 6 5      1 2 3 

      

 

 

 

 

 

 

g)  Estimate the sum by rounding off to nearest tens.  

       3 4   +  5 3 

 

 

 

 

IV .   Solve                                                                                                    ( 3 ×4 = 12) 

  a ) 243 men ,178 women and 358 children visited a zoo on Sunday . Find the total  

        number of visitors. 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 
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b) Roshan has 1289 stamps . Aarav  has 1378 stamps . How many more stamps does Aarav 

have than Roshan? 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 

 

c)   Find   456 + 1234 – 132 +  231 

 

 

 

 

 

 

 

 

 

d) Find the product using short cut method 

 i) 34 × 10              Ans : ______________ 

 ii) 56 × 100           Ans : ______________ 

iii) 6 × 1000           Ans : ______________ 
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V .Subtract and check your answer through addition.                                           (1 ×4=4) 

                                                             Checking 

            8  9  8  4                                      

            2  2  5  6 

 

 

 

Working column 

 

 

  

     

 

 


